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1.

Match List-I with List-II and select the correct answer from the codes given below:

()
(b)
(c)
(d)
(e)
®

List I

The spirit of the laws
Candide

Encyclopaedia

The social contract

Meditations on first philosophy

List IT
(1) Voltaire
(1) Jean Jacques Rousseau
(i11) Rene Descartes
(iv) Denis Diderot
(v) Malthus

An essay on the principles of population (vi) Montesquieu

(A)
(B)
(©)
D)

@@ () @ (@
(vi) Gv) (v) @)
(vi) (1) @) (@)
(i) @) @v) (1)
@ @ @) (i)

e ®
@) (@)
) (v)
@)  (v)
@) (v)

Arrange the following events in chronological order and select the correct answer from

the codes given below:

(a)

(b)

(©

(d)

Native Americans protested against the British Parliament’s tax on tea at Boston

Harbour by throwing 342 chests of tea into the sea

The Toleration Act granted religious freedom to all religious groups, including

Protestants in England

The Declaration of the Rights of Man and the Citizen was prepared based on a

variety of Enlightenment ideas and the political philosophy of John Locke and

Montesquieu

The National Assembly formed by the third estate and some sympathetic clergy

held their meeting in an indoor tennis court and vowed to stay together to write a

constitution

A) (), (a), (d), ()
B) (), (a), (), (d)
© (a), (), (d), ()
D) (d), (b), (0), ()
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B ) @O @ @ @)
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@ @ @ G () @) (@)
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342 Bt BT, ST B, OITD.
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mﬁo@édﬁg{ AeBI.

() DRSS DB Fn0BT JENY  eeRBOLRY, NG godeerdodd  NRFednw DI
B 9% R dmodm% 03T Towdead 3B T3 Be0H detS AFBRTUINT.

(d) Sede oFeer DF) 30 SHDLIRSD TR TIT Tad ead Feady 2woories eI
Beer 30 B, TFDR, IBID DB FoITeITY, wToben e ehFIoeN =3
J083.

A)  (b), (a), (d), (© B)  (®), (a), (¢), (d)
(©) (a), (b), (d), () D) (d), (b), (), (@)
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3. Consider the following statements about the revolt of 1857. Which of them is correct?

(1) The young sepoy Mangal Pande of the 34 Bengal Native Infantry has fired at his
superior officer and was executed

(i1) Bahadur Shah fought against the British till his death to defend Delhi

(i11) General Hugh Rose defeated Rani Lakshmibhai of Jhansi and paid high tribute to
her by saying that ‘here lay the woman who was the only man among the rebels’

(iv) The revolt of 1857 affected the entire British India, including South India
(A) Only (1) and (i1)
(B) Only (1) and (ii1)
(C) Only (i1) and (ii1)
(D) Only (1) and (iv)

4. Given below are two statements, one is labelled as Assertion [A] and the other is labelled
as Reason [R].

Assertion [A] :  On 6 April 1930, Gandhiji defined the salt laws at Dandi.
Reason [R] :  The Dandi march of Gandhiji was a result of the Gandhi-Irwin Pact.
In the context of the above two statements, which one of the following is correct?

(A) Both [A] and [R] are true, and [R] is the correct explanation of [A]

(B) Both [A] and [R] are true, but [R] is not the correct explanation of [A]

(C) [A] is true, but [R] is false

(D) [A]1s false, but [R] is true

5.  Match List-I with List-II and select the correct answer from the codes given below.

List I List IT
(a)  Criticised Congress Party with the (1) Premchand
Safety Valve theory in 1916
(b) Swadesh Bandhab Samithi (1) Lala Lajpat Rai
(¢) Karmabhoomi (111) Bankim Chandra Chatterjee
(d)  Devi Chaudhurani (iv) Dadabhai Naoroji
(e)  Poverty and Un-British Rule in India (v)  Ashwini Kumar Dutt

@ () © (@ (@
@ O v @) 6@
B ) O @) @ W)
© @ (v @) @ @)
@ @ v O @) @)
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>
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e308), el

a3 1 aed 11
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6.

Which of the following statements about the coming of Europeans to Kerala is correct?

(1) The French were the first Europeans to arrive at the Malabar coast and made their

settlement at Mahe.

(1) Hortus Malabaricus is a twelve-volume encyclopaedia of over 740 plants in Kerala

compiled by the Dutch and published at Amsterdam.
(111) Vasco da Gama sailed from Lisbon with three ships and reached Calicut in 1498.
(iv) Cartaz was a ship built by the Portuguese to fight against the kings of Malabar.
(A)  Only (1) and (i1)
(B) Only (1) and (ii1)
(C) Only (i11) and (iv)

(D) All the above

Match List-I with List-II and select the correct answer from the codes given below:

List I List I1
(a) Valiya Kappithan of Travancore army (1) Raja Kesava Das
(b)  Sarvadhikaryakkar (11) Francisco Almeida

(¢) Unnuneelisandesam narrates the journey of (i11) Ali Adil Shah
(d)  Tuhfat ul Mujahiddin is dedicated to (iv) Eustachius De Lannoy

(e)  First Viceroy of Portugal in the East (v) Aditya Varman
@ (b @ (@ (@
A ) O (@ @ @
B) v O @) @) )
© @) v @) @O @
D) @ @ () @) @)
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8.  Which of the following straits separates Russia and North America?
(A) Palk Strait
(B) Bering Strait
(C) Strait of Magellan

(D) Strait of Hormuz

9.  Consider the following statements:
(1) Gutenberg discontinuity is the border between the lower mantle and the outer core
(11) Mantle starts from Conrad discontinuity
(111) Repitti discontinuity is the transition zone between upper and lower mantle
(iv) The Mohorovicic discontinuity lies between upper and lower crust
Identify the INCORRECT statements:
(A) (11) and (iv)
(B) () and (iv)
(C) (1) and (iv)

(D) (i) and (i)

10. Which of the following latitudes are known as Horse latitudes?
(A) 0-20 degrees North and South of equator
(B) 25— 30 degrees North and South of the equator
(C) 45— 60 degrees North and South of the equator

(D) 75 —90 degrees North and South of equator
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11.

12.

13.

14.

Match the mineral/energy resource in List 1 with its production region/mine in List 2

List 1 List 2
1. Petroleum a. Koraput
2.  Bauxite b.  Hutti
3. Coal c. Mumbai High
4.  Gold d. Jharia
(A) 1-c, 2-a, 3-d, 4-b
(B) 1-c,2-d, 3-b, 4-a
(C) 1-d, 2-a, 3-c, 4-b
D) 1-c, 2-d, 3-a, 4-b

Which city among the following are NOT connected by the Golden Quadrilateral

highway project?

(A)
(B)
(©
D)

Delhi
Mumbai
Hyderabad

Chennai

Which of the following agricultural research institutes under ICAR is INCORRECTLY

paired
(A)
(B)
©)
D)

Central Plantation Crops Research Institute —  Kasaragod
Central Tuber Crops Research Institute —  Thiruvananthapuram
Indian Institute of Spices Research —  Idukki

Central Marine Fisheries Research Institute Kochi

Which handicrafted item from Kerala was recently awarded GI tag, making it the first

tribal product from Kerala to receive the tag?

(A)
(B)
(©
D)

Nettur Petti
Kannadippaya
Peruvemba musical instruments

Payyannur Pavithra Mothiram

-10- A
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15.

16.

17.

18.

19.

20.

21.

Which international organisation defined globalisation as the ‘unrestricted cross-border
movement of goods and services, capital, and labour’?

(A) World Trade Organisation
(B) International Monetary Fund
(C) International Labour Organisation

(D) United Nations Development Programme

Which of the following names is not associated with the Green Revolution?
(A) Norman E. Borlaug (B) C. Subramaniam
(C) Bimal Jalan (D) M. S. Swaminathan

What is the primary objective of the Pradhan Mantri Fasal Bima Yojana
(PMFBY)?

(A) To provide minimum support prices for all crops
(B) To ensure affordable crop insurance and risk coverage to farmers
(C) To supply free seeds and fertilizers to farmers

(D) To promote organic farming practices

Which of the following products is not exempted from GST in India?
(A) Fresh fruits and vegetables (B) Honey
(C) Newspapers (D) Packed biscuits

Which of the following financial instruments is primarily used for hedging, speculation,
or arbitrage, and derives its value from an underlying asset or index?

(A) Repurchase Agreement (B) Treasury Bills

(C) Government Securities (D) Derivatives

Which one of the following sequences is correct in the context of the three largest
coffee producing states in India?

(A) Kerala — Karnataka — Tamil Nadu
(B) Karnataka — Kerala — Tamil Nadu
(C) Tamil Nadu — Kerala — Karnataka
(D) Telangana — Karnataka — Kerala

A mineral in which India is one of the leading producers, used in steel manufacturing, is:
(A) Manganese (B) Nickel
(C) Copper (D) Cobalt

-12- A
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22. A child in a developing country presents with severe xerophthalmia (dry eyes) and an
increased susceptibility to respiratory infections. A dietary analysis would most likely

reveal a chronic lack of:
(A) Foods rich in ascorbic acid
(B) Fortified milk and sun exposure
(C) Yellow and orange vegetables and fruits

(D) Whole grains and legumes

23. Of the following four common health metrics, which is the best indicator of cardio

respiratory fitness?
(A) Resting Heart Rate
(B) Blood Pressure

(C) VO, max (maximal oxygen uptake)

(D) Body Mass Index (BMI)

24. In an aquatic ecosystem contaminated with mercury, which of the following organisms

would be expected to contain the highest concentration of the toxin in its tissues?
(A) Phytoplankton (algae)
(B) Zooplankton (microscopic animals)
(C) Small fish that eat zooplankton
(D) A large predatory bird that eats the fish

25. How does the process of pasteurization make milk safe to drink?
(A) It sterilizes the milk, killing all microorganisms including bacterial spores

(B) It uses high heat to kill pathogenic (disease-causing) bacteria and reduce the
number of spoilage microbes, without significantly altering the nutritional

value

(C) It adds beneficial bacteria (probiotics) to the milk to out compete any harmful

ones

(D) It filters the milk through a microscopic sieve to physically remove all

bacteria

-14- A
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26. An environmental agency tests a water sample from a river downstream of a sewage
treatment plant and finds it has a very high Biochemical oxygen Demand (BOD). This

result indicates:

(A) The water is super saturated with dissolved oxygen and can support large

fish population
(B) The water is likely contaminated with heavy metals like lead and mercury
(C) The water contains a large amount of biodegradable organic pollutants

(D) The water has highly acidic pH

27. A tourist in Kerala develops watery diarrhea, vomiting, and severe dehydration with
electrolyte imbalance. Stool culture reveals “Rice-water stool” positive for a gram-
negative, comma-shaped bacterium. The most likely diagnosis is Cholera and the

immediate, life-saving treatment is:
(A) A course of strong antibiotics
(B) Oral Rehydration Therapy (ORT) with a solution of water, sugar and salts
(C) An anti-diarrheal medication to stop the fluid loss

(D) Immediate surgery to remove the infected part of the intestine

28. What is hypertension?
(A) A condition where the level of sugar in the blood is consistently too high

(B) A condition where the pressure of the blood against the artery walls is

consistently too high
(C) A condition of extreme anxiety and stress

(D) A condition where the body’s heart rate is dangerously low

-16- A
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90 A0I-E550T 29,3008, Froad, BB FReDVIT. 23N TneriARFobay S900 )

3B, Rec3 LIRS 2333 o -

(A)
(B)
(®)

D)

RVODIT B,3VETBNY BeeRre
D), BB,F DB) LTeNY TSR0 IPNB JJwrdesses 333 (ORT)
B8 IS, VOB 8T8 ITeed BIO

SDHPR FpeodS Wonaxd, SrDTITN SZOT B 3S3,

28. ©03 J3R3B worTerD?

(A)
(B)
(©
D)

S80S I8,0 D63 AB0BTN Doz FYDHS A3
BT rteedny Sed) U8 233 ICoBCN Bow BBHS 3
3e3y, 5308 ) 2378 A3

Bead ByBab WS vmeahzdwN 3B 2SI A3
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29. While coming to a stop, a cyclist skids 5 m. The road exerts a 200 N force opposite to the

motion?
(a) Determine the work performed by the road on the cycle.

(b) How much work does the cycle do on the road?
(A) —2000 J, 2000 J
(B) —2000dJ,04d
(C) —1000 4, 1000 J
(D) -1000d,0d

30. Why is it dangerous to hold your breath while ascending from depth during scuba
diving?
(A) Oxygen dissolves in blood faster
(B) Nitrogen escapes violently
(C) Lung air volume expands due to decreasing external pressure

(D) Heart rate increases rapidly

31. Which of the following statements about ISRO’s SpaDeX mission is INCORRECT?

(A) SpaDeX demonstrated and validated technologies for rendezvous and docking

in space

(B) The mission involved two spacecraft, designated as Chaser and Target, which
dock together

(C) The technology developed in SpaDeX will be crucial for future lunar missions

like Chandrayaan-4

(D) SpaDeX utilized a large, heavy spacecraft to dock with a smaller, lighter one

32. Which requires more fuel: a voyage from the Earth to the Moon, or a voyage from the
Moon to the Earth?

(A) Voyage from Earth to the Moon
(B) Voyage from the Moon to the Earth
(C) Both require the same amount of fuel

(D) It depends on the specific trajectory
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29.

30.

31.

32.

T35, AODen 5 e. TWRT 2590 DewEaN. STk BOST IbFeN 200 N 20D, DedhSdS

(@)
(b)

J30° Dedd Sl IBDS ShabRY, BoDEHBMO D)
Sdab ed I3 IBDS 300D, SowPBAO.

(A) 2000 J, 2000 J (B) —2000d,0J
(C) —1000dJ, 1000 J (D) -1000dJ,0J

Rie,27 40T FRThzan SYR0T HMTIN A, LVITR) HEBEEARID &8 BT0HEeD?

A) B3B3 5339 Serimen VI

(B) ®0B=ER) Homa3,8T0N BeTHIT

(C) o8 238 BBAHIBOT T9,TEREBT MV BFT0) ITOVIT
D) BTob &3 Serimon BRI

Qiped SpaDeX ZadrerdvaEad 202 8 YN dred ®ePINn Swmo N7

(A)  SpaDeX 2%y 5300 JoHWS D) Fadort SRS SoBTeINHRY, FBIEID
D) IR BOID

(B) 8 zoaberudmaly wIeT0f DF) erieer QoD rRABBIT ATD  WeHYBB
JBNYR, w¥rieodd), @) wedrt Bes* FreraI

(C) wogodres-4 03B PIRT 2303 FoodyerdSHiert SpaDeX IO ©DB)QBRTTT
B0BReR) Aemer BTN

(D) SpaDeX 38,003, ®rhTmed woBRY Bos® o) BRBHIT, 003 mméa?ﬁ
B0 LPID

B, TS ROPS WIeBrHBa: 30T 30Tt B)0drees, 9T 30808 e &aiyecs?

A)  BeD0T BorR3 B0
(B) 303,003 e @0ro

(C) TBER, ot ZITeeTd VTS ezorhSas
D) ad Ay IFIRY VSLOIIDIBTI
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33. A cricket player lowers his hands while catching a fast ball. Which Newton’s law is
directly applied, and why does this reduce injury?

(A) 1stlaw; extends time to reduce inertia
(B) 2rd]law; increase time, reducing force
(C) 3rdlaw; equal reaction force cancels

(D) 1stlaw; prevents backward motion

34. A submarine can rise or sink in water by controlling its ballast tanks. When the tanks
are filled with water, the submarine sinks and the tanks are filled with air, it rises.

Which principle explains this ability?
(A) Bernoulli’s theorem - faster flow reduces pressure
(B) Archimedes’ principle - buoyant force depends on displaced water
(C) Pascal’s principle - pressure is transmitted equally in all directions

(D) Newton’s third law - every action has an equal and opposite reaction

35. Match the following EM wave types with their application

EM wave type Application
(a) Microwaves (1)  Used to kill germs in water purifiers
(b) Radio waves (11) For radar systems used in aircraft
navigation
(¢ UVrays (i11) For broadcasting
(d) Gamma rays (iv) Used in medicine to destroy cancer
cells

A (@-01), (b)-(D), (¢)-(i11), (d)-Gv)
(B)  (a)-(u1), (b)-(1), (¢)-(), (d)-Gv)
©  (a)-@D), (b)-(11), (¢)-(), (d)-(v)
D) (@)-@1D), (b)-Q), (¢)-(ii1), (d)-Gv)
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33. 3B’ wuMmOD Iend BodI dBowmen BF FNYR BYE, DTN, aD IR
QaDHDBY, FedezoN BFATTHIT DB VWD MIDBIY OF BB WeRDIT?

A) 17 bz BEIFR), 30D B FHVTRY, ITODBE
(B) 2% dodhad; IRVBRY, B, OB 38 IRDIT

(©) 3 dab; Fex F3ab WO FRPIDIT

D) 1= doha; bR, BOSHRY, 3BT

34. 20T VUR0IBMFD B ST WYL, 3,05 MY AohoGa Bwewd DI eefedumTD
VBT BVWMVBTD. 305N JedI0T @oDwor, BLUROSBMED TWMHBT DA €305
MPAOT B0Dwer, VT eSeDIH. By TIDFF DY, WIS SIS JSODIT?

(A)  2Pedd Fehead - Send BOY) wIBS, BB eSS

(B) @3R3’ 33, - Seens WO c—gwoédr{raod 0 et BTLoNBHTNDHIT

(€) TR, B3, - wBBY Dy HB,NFOWBe JyeSITeN BEDIT

D) [SRE'T SwdTe dodbad - F30keomd Fobhay IS DI DG B)330Hab)
BPRODDHITI

35. 3¥NS EM S00n 35000+~ Ny o-,deodrt @eodd.

(a)

(b)
(c)
(d)

EM 3dor @500 BB’

DB edea R () QeOR  ReBTHZTBRYY  [g,Bedndy,  Bpyw
AT PV ng

Se&adee 3d0m (i) IR FoITBALY YT TetzeT* FSJriont

0 3Bearted (i) @medE,N

Mae 336Nw (iv) YR T* BpeBRTIRY, ToBTBL BIFBY wHRwrH3TS

A (@)-01), (b)-(D), (¢)-(111), (d)-Gv)
B)  (a)-(ii1), (b)-Gi), (¢)-(), (d)-(v)
©  (a)-1), (b)-(11), (0)-(), (d)-Gv)
D)  (a)-@1D), (b)-Q), (¢)-(iiD), (d)-Gv)
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36.

37.

38.

39.

40.

41.

42.

Name a compound used as antioxidant for packaged foods :
(A) MSG (B) Baking powder

(C) Vinegar (D) Butylated hydroxyanisole

Which of the following metals do not cause toxic contamination of food?
(A) Lead (B) Mercury
(C) Cadmium (D) Aluminium

What is the acid present in vinegar?
(A) Acetic acid (B) Tartaric acid
(C) Citric acid (D) Formic acid

How many elements are present in the first inner transition series?
(A) 16 B) 10
(C) 18 D) 14

When 3d orbitals are completely filled, the new electron will enter into :
(A) 4s orbitals (B) 4p orbitals

(C) 4d orbitals (D) None of these

What does the magnetic quantum number signify?
(A) Shape of orbitals (B) Nuclear stability

(C) Orientation of orbital (D) Size of orbital

Which among the following properties decreases left to right along a period?
(A) Ionisation energy (B) Electron affinity
(C) Atomic radius (D) Valency
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36.

37.

38.

39.

40.

41.

42.

D5 BT B8TITRVT GVB,REE) ATREFBDN WFDT FowwBBY, BIOL -
(A) MSG (B) 3edore P@C*
(C) Admnce (D) wzsaeiefja‘ ® ;039,38 Aroddeees

8 3YNS 0o fpednw 8H0B JIETe0 S1OF @Y, BVoLDTIRDIHD?
A) A3 (B) =o@d3s
(®)) mé&eobdf D) @Qlfaéctl)cUOjJO

QAANTZODS B3 droYch?
(A) 3 s (B) €39e39¢05° 32
(O) 43 s (D)  ToDES® B8

SpTL 80308 BOTBER0 TT30LY O, DWPVTWNW (elements) RHSI?

A) 16 (B) 10
(C) 18 D) 14

3d Bgrivh BoprraeN SodTen, Bem aUE, T FHBVTE -
A)  4s 3griw (B) 4p 83nw
(€) 4d 38R D) WJrVO areRce ee

Boo3ead 59,063a° Josd; OITY VRVDBT?

(A) 3gnv ez (B) @carecw 03
©) 3o ByAZees (D) 3gab M3,

8 YNNI ared rHesegeniwd eShab sVgade, HBBT w3, B ATHBI?
(A) e0ees0e 33 B) ada@ F 9DEd
(C) ITeew 32 D)  Bed)
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43.

44.

45.

46.

47.

48.

49.

50.

The story and screenplay of the movie Neelakkuyil was written by :
(A) P.Bhaskaran (B) Uroob
(C) Ramu Karyatt (D) K. Raghavan

The ritual ‘Akkitha’ is associated with :
(A) Kudiyattam (B) Mudiyettu
(C) Yakshaganam (D) Padayani

Sahodaran Ayyappan organized first Misrabhojanam at Cherai in :
@) 1911 (B) 1901
(C) 1917 D) 1924

Porulathikaram is a part of :
(A) Purananuru (B) Tholkapiyam
(C) Akathiyam (D) Thirukkural

Baris is believed to be the ancient name of the river :
(A) Bhavani (B) Bharathappuzha
(C) Pamba (D) Periyar

Kumaranasan wrote “Enthinu Bharathadhare Karayunnu? Parathanthryam

vidhikalpithamanu Thaye” in :
(A) Gramavrukshathile Kuyil (B) Oru ulbodhanam
(C) Oru theeyakuttiyude Vicharam (D) Simhaprasavam

Which is the character called as “Mucheettu Kalikkarante Makal”?
(A) Suhara (B) Sainaba
(C) Ayisha (D) Pathumma

The first Malayalam short story-Vasanavikruthi was published in :
(A) Vidyavinodini (B) Vidyavilasini
(C) Bhashaposhini (D) Jnananikshepam
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43.  Qewd)def B33 3F D) BFBFHY, WITSD
A) . e TF (B) evdew®
(C) ©Codw Beabes® D) 3. cogd>®

44. ‘0330 3080 TR0 FowoRAT -
(A) zedaretso B) Swdabey,
(C) obgneso (D) SBaded

45. JTRETOF AT SRV DBRIPeBITY, 33T 80dReBITD :

A) 1911 (B) 1901
(©) 1917 (D) 1924

46. TPDOAETIT0 WBT 201 IMNDNG -
(A) DTBoeed B) Brws,dabo
(C) e3Babo D) 3dha)def

47. 2B 20w IVD T3S BID 0T SoweTeNT :
(A)  @ad (B) 3R ¥
(C) Howe (D) =dadyec®

48. DIPRCTRT VID "20O OB VAR FOB0) 0 BB T GO WIBTYS -
@A) mRTZIS BAF (B) &0 tveln edo
(€) &0 Seairededalnd Moo D) Aoz3330

49. "Tweded) 303,063 DBV 20T BEWO DS B, oireRIw?
A) D3oe B) IS0
(C)  edvwme D) DD,

50. ZpTL DOIY0 JHIF-TIFIB)S BBITITA) :
4) oy ITeed B)  ATYATd
(C) Yomoxzpeded D)  LIAZex3F
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51. Which of the following statements about the National games held at Uttarakhand in

2025 is correct?
(1) Sawan Barwal won gold medal in 10000 metre race and created new record
(i1)) Dhinidhi Desinghu won gold medal in swimming and created new record
(i11) Mehak Sharma won gold medal in weightlifting and created new record

(A) Only (1) and (i1)

(B) Only (i1) and (ii1)

(C) All of the above ((1), (i) and (ii1))

(D) None of the above ((1), (i1) and (ii1))

52. Choose the National-level sports organizations of India from the following options
(A) PCI and IOA (B) IOA and IPC

(C) IPCandIOC (D) PCIand IOC

53. Which of the following correctly represents India’s medal tally at the Paris Olympics
20247

(A) 1 Gold, 0 silver and 5 Bronze
(B) 0 Gold, 1 silver and 5 Bronze
(C) 0 Gold, 2 silver and 4 Bronze

(D) 1 Gold, 0 silver and 4 Bronze

54. Which of these is the fastest type of memory?
(A) Cache (B) Hard Disk

(C) USB (D) RAM
-26- A



122/2025-K

51. 2025 39 eV300BTO IFT osc?gyeoi) 3LBoERLT BOR) B YNNI 5od BePIMW JOWraNS?
1) TS wezere 10000 Deest® L3R BI T ST ) BRI T ADEDTD.

() BB Bedord BPTIO YT BB NE) BT T ADLFIBD.
(i) DB BRF FeFOS MRS BIB ST 1) B DS AVFATA.
@) ) B (i) &3,
B) (i) D (iii) I3,
(C) eI 20 (i), (ii) B (iii)

D)  ddePHde o) (1), (1) DI (1))

52. 8 3YNT 808),P0T 279333 oac?sgeo:b 3T e ﬁox’%rﬁ?@( 303,
A) PCI &= IOA (B) IOA &= IPC

(C) IPC & I0C (D) PCI & I0C

53. o BUARSINYO 0P 2024 3 BB wOIFTRY 033 BEINY Foal,hR) [N
B 3IDDIF?
A) 123, 0239 D3 5 oed
(B) 0uR, 139 DI 5 3oed
©) 03, 239 ) 4 B0

D) 133, 039 DI 4 Sozd

54. AIINYY Ao Jenmed DBed BFeTTNT?
(A) saéa’ (B) mor &

(C) oz (D) RAM
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55.

56.

57.

58.

59.

Which application software is primarily used for managing large data sets?
(A) MS Word (B) MS Paint

(C) MS Access (D) VLC Media Player

The act of assigning a value to a variable is a :
(A) Control instruction
(B) Store instruction
(C) Transfer instruction

(D) Output instruction

Which device connects multiple computers in a LAN and filters traffic based on MAC

addresses?
(A) Switch (B) Router
(C) Hub (D) Bridge

Which of these devices performs packet switching and determines the optimal path for

data?
(A) Switch (B) Hub

(C) Router (D) Bridge

What does the <a> tag in HTML define?
(A) An animation (B) An anchor for hyperlinks

(C) An audio file (D) An attachment
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55. ©eg deeso JTNYIY ITcDTeD 0 WBeBR Tog, Se0° R @BLTIN WFTBTHBT?
(A) Q0T I (B) 2007 Seoes

(C) Doox* 88* D)  doefd edaye e

56. Sedabeer T SPUERY dodeedDa Sab :
(A)  abo3e e
B) ©ond el
O) Tnerss ReB

(D) BeFRer oS

57. 0308 TBRD LAN RO 0B S0RRE0TVRY BoBSFRIBE Sd) MAC Iwomny smeos ded
35 BRY, SVTF FIRDIC?
@A) (B) dQeesck

3

€) =° D) Rea>S

58. B JIPIAYY BePd mBeFr Qo' R ABCHLDIT D) Beesrt TWpF SyINESY,

AR BDBI?
A) e (B) ®F
(C) T3’ D) e

59. HTML 39 <a> t33;1F OIS, 29809337
Q)  dDe=>’ B) B[O 80B0F

(C) esBade Fye° D) @méza‘aboas‘
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60. Find the value of 0.5x0.05 x 0.005 x 50 x 500

(A) 3125 (B) 0.03125
(C) 0.3125 D) 3.125

61. If the price of the commodity is increased by 50% by what fraction must its consumption
be reduced so as to keep the same expenditure on its consumption?

(A) B)

©) D)

[l RN
Wl Wk

62. On a certain sum of money, the compound interest for 2 years is Rs.304.5 and the simple
interest for the same period is Rs.290. Find the rate of interest per annum :

A) 9% (B) 8%
©) 11% D) 10%

63. A bag has Rs.785 in the denomination of Rs.2,Rs.5 and Rs.10 coins. The coins are in the
ratio of 6 : 9: 10. How many coins of Rs.5 are in the bag :

(A) 60 (B) 12
(C) 45 D) 24

64. 3°x3*x3° isequal to:
@ 3 ®B) 3
€ 3 D) 3

65. Ram and Shyam together can build a house in 10 days; Ram and Arun can build it
together in 12 days and Shyam and Arun can build it in 15 days. Shyam, Arun and Ram
start working together. In how many days they build the house?

(A) 4 days (B) 6days
(C) 8days (D) 12 days

66. If a, b,c are in Arithmetic Progression, then which one is true?
(A a+c=2b B) b+ta=2c

©) czaT”’ D) atc=b
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60.

61.

62.

63.

64.

65.

66.

0.5 x0.05 x 0.005 x 50 x 500 d)’aoasddg( BoRHRBANO.

(A) 31.25 (B) 0.03125
(C) 0.3125 D) 3.125

TSI BSDRY, 50% T3ATT, T3 w¥Bah HedI JPID, ©de 0ed ROIZpYw ©TT
WYZ0DRY, odrees eridond BB Srerdeiem?

A) B)

(SN
w|n W

©) D)
00T ADFF, SP3BT BT e, 2 IRENY WZE de. 304.5 D) ©de B[O ITY G
GR. 290. DodfE WE BOBD, BoDoBAD.

A) 9% B) 8%
€ 11% D) 10%

wod ey Tp. 2, de. 5 DA de. 10 msazsri%ﬁ Soarfsabd de. 785 eaaig( BRODDET.
msazsmb 6:9:10 eﬂomédéﬁd ?,See)deg Tp. 5 T o), msaéﬁ@d?

(A) 60 B) 12
(C) 45 D) 24

3?x37'x3" ard, SRIRTNDIT

Q) 3 B) 32
C) 3 D) 3

O DR T’ weIN 10 BINFY DT ADFTVBMTD; ToBF D) W& wedN 12 DINYY
ADFTIBTD DB DYF DB D 15 BIMYY ADESBMTDD. YR, D&’ DA Do wedrt
BOI BB TSV, BID OR), AINTY DN Bed)39T?

(A) 4 23InD (B) 6 3D

(C) 8o’nw D) 12 BID

a, b,c ©o3NEST FNAHOFS, AreHD JO?
(A) a+c=2b (B) b+a =2c¢

(C) c=“7+b D) a+c=b
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67.

68.

69.

70.

71.

72.

73.

74.

The side of a square is 8 cm. If its side is doubled, then its new perimeter is :
(A) 64 B) 81
(C) 121 D) 32

Find the missing term in the given number pattern :

5,13, 29, , 125, 253
A) 83 (B) 69
(C) 61 (D) 65

Find the odd one out :
A 3:14 B) 5:18
(C) 8:24 D) 6:30

In a certain code “FANTA” is written as “ LGTZG” . How is “ CRICKET” is written in
that code?

(A) NSKLIEA (B) FKCLIEC
(C) IXOIQKZ (D) OWMAMDK

Pankaj is the son of Rajesh and Swapna, while Deepa is the only granddaughter of
Sheela who is the mother of Prakash and Swapna. If Prakash is unmarried and brother
of the wife of Rajesh, then how is Pankaj is related to Deepa?

(A) Uncle (B) Brother
(C) Father (D) Son

A train of length 400 m takes 15 seconds to cross a train of length 300 m traveling at
60 km/h from the opposite direction along a parallel track. What is the speed of the
longer train in km/h?

(A) 108 (B) 102
(C) 98 (D) 96

It was Sunday on Jan. 1, 2006. What was the day of the week Jan. 1, 2010?
(A) Sunday (B) Monday
(C) Saturday (D) Friday

Choose the correctly spelt word :

(A) Compassionate (B) Compasionate

(C) Compationate (D) Compassionete
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67.

68.

69.

70.

71.

72.

73.

74.

23233 200 8 Fo.cve. B3 WO JrHerteoBdd, BTT BT BOPW

(A) 64 (B) 81
(€ 121 D) 32

QBB Boary SyeBO 5, 13, 29, , 125, 253 B0 595303708 BT, Bo&HBAO.

A) 83 (B) 69
(C) 61 (D) 65

BP0DBANODP B, BoRBBWO :
A 3:14 (B) 5:18
(C) 8:24 (D) 6:30

20 ADFF BeeEIY “FANTA” eﬂﬁg( “LGTZG” 2ot 2380bereNd. &8 Bees® “CRICKET”
eﬂ@( ®en w30herNg?

(A) NSKLIEA (B) FKCLIEC
(C) IXOIQKZ (D) OWMAMDK

BoBF, TS’ DR IJwe, BT DN, BTT Dewo Bee¥ 933 BV, WTD BB DA
J@my ST oA, BB WIDHBNGT D) Tde ¥V B30 JwReBTDNGT, BodSF
DD Bewme FRIS BowoFSerDd?

@) 333 (B) =@eedo
©) SBod O @n

400 e BVET Tyen JIReRe030 BOAY DG B30T Hoedrf 60 3.cbe. FendY BOD
300 be. eVEE B0, Tewey 15 FZ0RNW IridEeR33. 3.Qve./no.8Y swgmed 3,03 Fen
o), ?

(A) 108 (B) 102

(C) 98 D) 96
oD BIBO 1, 2006 BorD PorpeeTweN3). BISO 1, 2010 308 Ho0T B ree)ch?

(A)  odhwed B) eeDmed

(C) 3BA=e3 (D) 23ed

JOdeN wT0LRT BTB, B8O :

(A) Compassionate (B) Compasionate

(C) Compationate (D) Compassionete
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75. Neither Riya nor Gina any knowledge of the incident.

(Choose the correct verb)
(A) has (B) have

(C) were (D) are

76. What is the collective noun used for lions?

(A) fleet (B) swarm
(C) pride (D) mob
77. Please ask her to report today, (Select a suitable question tag)
(A) canyou? B) will you?
(C) should you? (D) don’t you?

78. They postponed the meeting due to an unexpected delay in processing the documents.

(Pick a phrasal verb that can substitute the underlined word.)
(A) move out (B) took off

(C) take out (D) put off

79. Which among the following is a correct sentence?
(A) No other boy in the class is as smart as Rahul
(B) No other boys in the class is as smart as Rahul
(C) No other boy in class are as smart as Rahul

(D) No other boy in the class are smarter than Rahul

80. I am searching for ways to break the ice with my new class. (What is the meaning of the

idiom, “break the ice”?)
(A) To do something that makes people feel more reliable
(B) To do something that makes people feel more hard-working
(C) To do something that makes people feel more relaxed

(D) To do something that makes people feel more focused
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81.

82.

83.

84.

85.

86.

87.

The king ruled
(A) from
(C) about

Which of the following is the correct spelling?

(A)
©

articles.)
(A)
©)

occasion

occassion

watch that you want is

A a
A, the

What is the antonym of benevolent?

(A)
(©

sympathetic

elegant

B)
D)

B)
D)

B)
D)

B)
D)

a vast empire. Pick the correct preposition.

over

by

ocasion

occation

limited edition. (Use the correct

The, the
The, a

cruel

simple

“Shut the door!” (What is the passive voice of this sentence?)

(A)
(B)
(©
D)

Let the door be shut
Someone has to shut the door
You have to shut the door
Please shut the door

What is the one word for a person who always looks at things in a positive manner?

(A)
(©)

Narcissist

Optimist

B)
D)

Pessimist

Meliorist

What modal auxiliary is used to suggest necessity or obligation?

(A)
©

Shall
Might
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